(erer) COUD) (aoup, (4L20H¥AIOT)
T 7 9 °g "1 enumod]] AAQ WOHLOHKE0X HHITIOIATA8RE

(vaem) OHD Gw&m‘o:v (a120m¥a10T)

.&\Q\u\ \\\ \ ‘U "H eaoxndeyy _ % 0J9MOIAT9RE JIrOLHLIIWEE

:erAdL UH=oIrdA MIHIHO HOHIIBUIIAND OIMHAT80dII Ol HHOOHIWON I9HAIE

(exerr) OHD (souuwou) (arsomNaror)

%\Q N %m\ \ "V g BEOHOER)) e w\ HUTTIOIAT 28R
eIrAdL HHEOIrDA HIHOEO HO U0 OIHHAT40dI 0Ll HHOIHION dLraLeIraorad] |

9107°L0° (0T ‘BHHaLdEL1I0D m,ﬂmq

10 | 1dH | I?H | I?H | I8H | I”H - T = T - = - = - - - - - - - - sxundos]y I
IoH | I9H | BH | 8H | 1”H | BH = 1 A 1 = = g = - - - - - - - - dorxeqg ¥l
- - - “ - - - _ _ B } (B41raQ) I9IKATOTIAND AL
S9H | S | SR | SR | AAEL ] RH < < ¢ 4 4 -Howad M 2%du1d oI LOMHMIIRIA] el
I | Y | WH | WH | WH | WH = 4 = 7 - i = - = = - 2 z & : T 1Mhoged YIHHOXAY zl
I9H | I9H | I?H | BH | I9H | 1°9H = 4 - 4 z rd s - - - = - 4 - B - desoy| 11
I9H | I8H | H | WH | IH | BH z [4 I T (4 4 - - - : - - (4 - - - desou-gayyy 0l
I9H | IH | I’H | 1°H | 1°H | I”H - T = Z T - - = - - B - - - E - BIMTHELIALIBY] 6
19H | I*H | I’H | 1”H | I?H | I”H - [ - Z = - = - - - - - - - - - MHMEOTRL Y] g
BH [ *H | 1”H | I”H | I”3H | 1BH = 4 1 T T < s % = = - - = - - - exLonHHmen-9dersdia) L
1o | 1o [ 1oH | 1aH | 1aH | 12H - z - Z - - - - - - - - - - - - WOSIOHKEOX HHITIOIAT2gRE 9
IH | 19H | 1*H | 1P9H | 1?H | I°H = z " T = = - = - - = - - - - T EIrALRLHLID0E YHHITOWO] | Mﬂmw
I3H | IdH | 1?H | 1”H | RH | 19H £ T = < = - - - ~ - - - - - - z KI'OLBLMLIO0E MHHITIOWO] | %wa_m.vm
12H | 19H | 1?H | I8H | 1*H | 1°*H = 4 - T = E 5 = = - - - - - - z EIrALBLHIIDO0E YHHITTOWO] | MM.WM
10H | 1°H | I*H | I?H | ?H | 13H - i = T - = - & - - - - - - - z KLrALBLHLIDOE NHHITOWO] | MMMM
ve | €T [44 1T 0z 61 81 Ll 91 ST [ w1 | €L [Tl [ IL |OI | 6 8 L 9 ¢ 14 £ [4 I
= = =

8|58 |88 43 E3|BE |Bg2 |42 £32 ] 2 3 g g 3 T8 |3 = |1938| = E
BE|_F |25 |gE |BS |oE 528 |Z& g % 3 g g | £ E | | |8 |8 =S| 2|8
=R |53 |5 g8 |22 |Eg|s5E|SCE g8 & S |E |5 |5 |&|é& a2| 2 | g BLOINW OI
Sz|53 |35 |82 |EE|zE |8ax| = S 2 lg |2 |2 |z|a|% |7 £z 8 | £ anoged
SE|§Z|EZ |88 |55 |82 (5S8| E| § | |E|f|s|:|E|2|°¢® s¥|2 |3 00

z = w_ 2|58 R E |o§ 8 8 5 g s | £ =t g8 | & 5E| ® eNHHL00Bd 9LOOHILBHTIALD dowon

m m £ 3 m E|SE Z |53 g < g & = g E w_m /ALOOHMILON HI9H

o9 | & = © g E E e Z 5 g | -

) 3 W E | g m m. m S M g g g m m = E g3 /En223¢od| qUeAr

= 5|38 |58 |8¢ = z & & 2 8 = |z g -HEUITH]

a g |57 =3 2 z < = 2 g

| ¥| |8 g S| §

& |™ ' " ¥ ¥ erAdL HHEOLIA (199IRINMITOLI) 1990BI7Y

BN BB




